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QUESTION 1

What action will a Lookup Stage take when "Drop" is selected as the Lookup Failure Option?
A. Stage reports an error

B. Stage skips the input record

C. Stage rejects the Input record

D. Job gets aborted

Correct Answer: B

QUESTION 2
What capability does Information Services Director provide?
A. Information Services Director is the tool used to consume web services

B. Information Services Director is the tool used to create a service; the deployment of the service is performed by
3rdparty tools

C. Information Services Director is the tool used within Information Server to create and to deploy an application
containing one or more services

D. Information Services Director is the tool used to schedule DataStage jobs and run job sequences

Correct Answer: C

QUESTION 3

Which of the following CANNOT be defined in the DataStage configuration file?
A. Degree of parallelism

B. Scratch disk dedicated for sorting

C. Compilation options for DataStage jobs

D. A named pool including only part (some) of the nodes

Correct Answer: C

QUESTION 4
Which type of Join would you select for the Join Stage to output unmatched records from both input data sources?

A. Inner join
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B. Left outer join
C. Right outer join
D. Full outer join

Correct Answer: D

QUESTION 5

Which Stage requires identical metadata in order to combine data?
A. Lookup Stage

B. Funnel Stage

C. Join Stage

D. Transformer Stage

Correct Answer: B
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